A & 0l &8 A B Al A

014895 =& 2 3| d==0HIIZELESH

& 500 BEx=

2 510 I NEX3S

5. 511 3UEX3S (el &)
g.-&.8.-5 Oil &koH JIEH Hus2

£ Al 620,398 573,000 47,398
500 EX=3 190,063 174,026 16,037
510 2 NEX3S 137,692 124,859 12,833
511 2NEX2E 137,692 124,859 12,833
511-01 =21E=x3 137,692 124,859 12,833
< FOIMSTIRAA > 137,692 124,859 12,833
O8Z2=20it| 136, 108,000 136, 108 124,859 11,249
O3 A1 Y] 1,584,000 1,584 0 1,584
520 Al - SHIEE3SS 52,371 49,167 3,204
521 ALEBIBE2S 52,371 49,167 3,204
521-01 Al - CHIZZ2S 52,371 49,167 3,204
< FOIMSTIRAA > 52,371 49,167 3,204
O8ga=a0| 34,031,000 34,031 31,219 2,812
O3 A1 ] 392,000 392 0 392
700 2L SR N 420,335 388,974 31,361
710 B82S 24,015 0 24,015
712 HEE0I1E3 24,015 0 24,015
712-01 2NEXSAISEH 18,281 0 18,281
< FOIMETIRA > 18,281 0 18,281
020134 SIS SHSE3H 2H|IZSHEH Bh 18,281,000 18,281 0 18,281
712-02 N EHISESAE Y 5,734 0 5,734
< FRIMSTIRA > 5,734 0 5,734
0013 2SHSES|H THITSHE Prt 5,734,000 5,734 0 5,734
720 LHEHeH 396,320 388,974 7,346
721 M= 396,320 388,974 7,346
721-03 JIEFSIHE A2 396,320 388,974 7,346
< FOIMESTIRA > 396,320 388,974 7,346
OB MUZ(RINHAZZER =) 9,506,000& 9,506 2,160 7,346
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